
50 

i.42,4 

e.42,4 

e.
38

 

60
,3 

350

i.7
5

e.
75

230

3x S.S. Bushings
P/N 204870

3x S.S Flanges
P/N 204448

7x Short Springs
P/N 303949001

S.S. Pipe LHS
P/N 3014371201

S.S. Pipe RHS
P/N 3014371203

S.S. Pipe
P/N 3014371202

S.S. Pipe 3/1
P/N 3014371205

OPTIONAL
Lambda Plug
P/N 5683

M12x1.25

S.S. Muffler
P/N 3014372481U

Allen Screw 
M8X90 
P/N 200925

Alu Spacer
Ø27  ø8,5
P/N 204321

Alu Spacer
Ø20 ø8,5 h50
P/N 203089

Flange Nut M8
P/N 200298

2x Alu Spacers
Ø29 ø8.5 h23.5 
P/N 205153

bike's frame

38,1 

36 

 2
7  4
 

43 

 3
 43 

S.S. Bushing 
P/N 204870

 12 

 8
,5

 

43,5 

4

 78 

 60 

S.S. Flange 46D 
P/N 204448

Zip Tie
P/N 402489

 1
00

 

 113 

dB-Killer N.73
P/N 3014371801

ART. 14372EBU

YAMAHA TRACER 9 / GT / GT+
(Also fits 35kW & 70kW versions) (Fits with original center stand)

FULL SYSTEM 3/1 - LV RACE - STAINLESS STEEL



50 

i.42,4 

e.42,4 

e.
38

 

60
,3 

350

i.7
5

e.
75

230

3x S.S. Bushing
P/N 204870

3x S.S Flanges
P/N 204448

7x Short Springs
P/N 303949001

S.S. Pipe LHS
P/N 3014371201

S.S. Pipe RHS
P/N 3014371203

S.S. Pipe
P/N 3014371202

S.S. Pipe 3/1
P/N 3014371205

OPTIONAL
Lambda Plug
P/N 5683

M12x1.25

S.S. Muffler
P/N 3014372481U

Allen Screw 
M8x70 
P/N 200494

Alu Spacer
ø27 ø8,5
P/N 204321

Alu Spacer
ø20 ø8,5 h50
P/N 203089

Flange Nut M8
P/N 200298

bike's frame
Alu Spacer
Ø20 ø10.5 h30
P/N 205966

USE STOCK NUT

S.S. Bracket
P/N 0814371501

38,1 

36 

 2
7  4
 

43 

 3
 43 

S.S. Bushing 
P/N 204870

 12 

 8
,5

 

43,5 

4

 78 

 60 

S.S. Flange 46D 
P/N 204448

Zip Tie
P/N 402489

 1
00

 

 113 

dB-Killer N.73
P/N 3014371801

ART. 14372EBU

YAMAHA XSR 900
(Also fits 35kW & 70kW versions) (Fits with original center stand)

FULL SYSTEM 3/1 - LV RACE - STAINLESS STEEL


	DT-14372EB TRACER
	Vista del disegno5
	Vista del disegno7
	Vista del disegno8
	Vista del disegno15
	Vista del disegno24

	DT-14372EB - XSR.pdf
	DT-14372EB XSR
	Vista del disegno35
	Vista del disegno36
	Vista del disegno37
	Vista del disegno38
	Vista del disegno39



